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	Give the next 4 terms in each sequence.  Identify the pattern.
	
	Complete.

	1. 8, 32, 128, 512
	
	1. List the first 10 square numbers.

	2. 13, 26, 39
	
	2. List the first 10 cubic numbers.

	3. 74, 70, 66
	
	3. Give the factors of 128.



	4. 
	
	4. Give the first 8 multiples of 7.



	Identify the pattern and fill in any missing numbers.

	1. 1/8, 2/12, 3/16, 4/20
	2. 7x, 14y, 21x, 28y

	3. 0, 1, 1, 2, 3, 5, 8, 13
	4. 1, 3/2, 5/4, 7/8

	5. 4, 7, 10, 13
	6. 5, 2, 8, 3, 11, 4, 14, 5, 17, 6, __, __

	7. 4, 8, 13, 19
	8. 64, 81, 100, 121


Answer Key mat_7_2_1_k1ab_1

Guided Practice
1. 2048, 8192, 32768, 131072. Pattern is 4 times previous number
2. 52, 65, 78. Pattern add 13 to previous number
3. 62, 58, 54. Pattern subtract 4 from previous number
Review Practice
1. 1, 4, 9, 16, 25, 36, 49, 64, 81, 100 

2. 1, 8, 27, 64, 125, 216, 343, 512, 729, 1000
3. 1, 2, 4, 8, 16, 32, 64, 128

4. 7, 14, 21, 28, 35, 42, 49, 56

Independent Practice
1. Alternative between unreduced fractions of 1/8 and 1/6. The numerator of the next number is added one. So, add one to the numerator and multiply by 8 or 6 to get the denominator.

2. Add seven and alternated the variable between ‘x’ and ‘y’.

3. Add previous number to current number to get next number.

4. Add two to the numerator while doubling the denominator.
5. Add 3.
6. Starting with the first number (5), add 3 to get the next skipped number (8). Staring with the second number (2), add 1 to get the next skipped number (3).
7. Each number is added one more than the next number, starting with the first number being added 4.
8. All of the numbers are perfect square roots. This could also be add 2 more than you added on the previous number:   ex.  64 + 17 = 81; 81 + (17 + 2) = 100; 100 + (17 + 2 + 2) = 121
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